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% At the high speed driving.

- TCGM generates power and
HPGM p drives HPGM

(High Power Generpator Motor)
At the low speed driving.

Inverter

P TCGM
: "El (Turbo Charger Generator Motor)
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(A2 22[X|E ACGEEH)

at52.2A,f=0 2000rpm

average torque=17.53 Nm

output 3671.5W

total loss 237.4 W

(copper loss 212.7 W, iron loss 24.7 W)
efficiency 3671.5x100/{3671.5+237.4)=53.9%

(12422 ACGG2| At Ex 2 (2000rpm))

at52.24,B=0" 6000rpm

average torque=17.54 Nm

 output 11020.7 W

total loss 380.07 W

(copper loss 212.7 W, iron loss 167.3 W)
efficiency 11020.7x100/(11020.7+380.07)=96.6%

(L2632l ACGGE| At = 2 (6000rpm))

(283 e ACGEE)

at52.2A, B=0" 2000rpm

average torque=18.36 Nm

output 3845.3W

total loss 196.0 W

(copper loss 175.5 W, iron loss 20.5 W)
efficiency 2845.3x100/(3845.3+196.0)=95.2%

570 E ACGGE| At R FI(2000rpm))

at52.24,B=0" 6000rpm

average torque=18.36 Nm

output 11535.9W

total loss 314.5 W

(copper loss 175.5 W, iron loss 138.5 W)
efficiency 11535.9x100/(11535.5+314.5)=57.4%

(A7 E ACGGL| At I FE(6000rpm))



